OVOID

D, lectus

Instructions
Instrukaja montazu

Assembly

www.lectus24.pl



D, lectus OVOID

PART LIST

1.Headboard 2.Footboard 3.Supportleg | 4.Sideboard 5.Bottom support
% Rail
X1 X1 X2 \ X1
6.Slats 7.Double-hole 8.Single-hole | 9. Leg 10.Slat side bar
Plastic Cap Plastic Cap \
X30 X15 X30 X4 X2
11.Slat side bar 12.Slat center bar | 13.Bracket 14 Bottom panel |15.Lifting frame
X2 X1 X2 X2 X2
16.Piston 17 .Strap handle 18.Mattress 19.Stabilizer bar | 20.Stop Cube
/ stopper /
X2 X1 @ X1 X1
(A) Bolt M8*30mm (B) Allen key (C) Mute sticker (D) Spring Washer (E) Flat Washer
g x32 ~ X1 ® X5 @ X8 X51
(F) Spanner (G) Bolt 8*50mm (H) Bolt 8*20mm () Screws 3*35mm
S D l
s =1
& X1 S X1 >  X18 X4

2 #lLectus24



OVOID D, lectus

() Screws 3*35mm

HlLectus24 3



D, lectus OVOID

4 HlLectus24



D, lectus

OVOID

(A) Bolt 8*30mm

x12

§

(E) Flat Washer

x12

HlLectus24



Ctus

D, le




OVOID D, lectus

(A) Bolt 8*30mm
x8

(E) Flat Washer

(G) Bolt 8*50mm

= x1

(C) Mute sticker

® .

HlLectus24 7



OVOID

D, lectus

(A) Bolt 8*30mm

(E) Flat Washer

HlLectus24



OVOID D, lectus
_ 10 N 10
1 o = 12 e | 11 11|k > e 4

Pay attention to keep the order of parts 10
consistent, and keep the three holes in the
same horizontal line

HlLectus24



D, lectus OVOID

(E) Flat Washer

(H) Bolt 8*20mm

x12

x12

10 HlLectus24



D, lectus

OVOID

11

ctus24

#le



OVOID

D, lectus

HlLectus24

12



D, lectus

OVOID

13

ctus24

#le



D, lectus OVOID

Congratulations!

Now...you have
good design
in your home!

Share you style!

#Lectus24
®@®®

Company address:

Martyna kostka Lectus Health & Beauty
ul.Ks.Koziolka 18a
47-303Krapkowice



